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Private Sub Command1_Click()
On Error GoTo ERRHALT1

‘ON ERROR
FileName = "C:¥J_MESHU¥H8JMES36.DAT" FILE
Open FileName For Input As #1 FILE OPEN
FileName = "C:¥J_MESHU¥H8JM36S.TXT" FILE
Open FileName For Output As #2 FILE OPEN
cg=""
RD1:
If EOF(1) Then GoTo EOJ1 FILE
Line Input #1, A$
B$ = Mid(A$, 10, 9) ‘RID
CELL =2 !
B$=B$+C$+ Mid(AS, (CELL -1)*7 + 78, 7)
CELL =5 5
B$ = B$ + C$ + Mid(A$, (CELL -1) * 7 + 78, 7)
Print #2, B$
GoTo RD1
ERRHALTZ: ‘ON ERROR
MsgBox "ERROR " + Error$(Err)
Close #1, #2 ‘FILE CLOSE
Exit Sub
EOQJ1:
Close #1, #2 ‘FILE CLOSE
End Sub
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Private Sub Command2_Click()
On Error GoTo ERRHALT2
FileName = "C:¥K_SHO¥H7KS36S.TXT"

Open FileName For Input As #1 ' OPEN
FileName = "C:¥K_SHO¥H7KS36SS.TXT" !
Open FileName For Output As #2 ‘ OPEN
RD2P:

If EOF(1) Then GoTo EOQJ2
Line Input #1, A$
KEY1$ = Mid(A$, 16, 12) ‘KEY1
B$ = A$ '
RD2:
If EOF(1) Then GoTo EOQJ2
Line Input #1, A$

KEY2$ = Mid(A$, 16, 12) ‘KEY2
If KEY1$ = KEY2$ Then GoTo POOL ‘KEY
Mid(B$, 1, 5) = “01631” ‘RID
Mid(B$, 11,5)=*  *
Mid(B$, 16, 12) = Mid(KEY1$, 1, 5) + Mid(KEY1$, 7, 6) + Mid(KEY1$, 6, 1)
Mid(B$, 44, 6) =" "
Print #2, B$
KEY1$ = KEY2$ ‘KEY
B$ =A% '
GoTo RD2

POOL: © KEY
LNGTH = Len(A$) ‘
B$ = B$ + Mid(A$, 51, LNGTH - 50)

GoTo RD2
ERRHALT2: ‘ON ERROR
MsgBox "ERROR " + Error$(Err)
Close #1, #2 ‘FILE CLOSE
Exit Sub
EQJ2:
Mid(B$, 1, 5) =“01631"
Mid(B$, 11,5) =
Mid(B$, 16, 12) = Mid(KEY1$, 1, 5) + Mid(KEY1$, 7, 6) + Mid(KEY1$, 6, 1)
Mid (B$, 44, 6) =" "
Print #2, B$ ‘POOL
Close #1, #2 ‘FILE CLOSE
End Sub
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FILE

SIZE FILE SIZE
27MB 20MB 135,044 1,484
148MB 110MB 751,478 8,258
(BODY )
BDY POS | LEN

004 | 000 1 1 X 51 10
004 | 000 2 2 X 61 10
004 | 000 3 3 X 71 10
004 | 000 4 4 X 81 10
004 | 000 5 5 X 91 10
004 | 000 6 6 X 101 10
004 | 000 7 7 X 111 10
004 | 000 8 8 X 121 10
004 | 000 9 9 X 131 10
013 | 008 3 1353 X 71 10
013 | 008 4 1354 X 81 10
013 | 008 5 1355 X 91 10
013 | 008 6 1356 X 101 10
013 | 008 7 1357 X 111 10
013 | 008 8 1358 X 121 10
013 | 008 9 1359 X 131 10
013 | 008 10 1360 X 141 10
013 008 11 1361 X 151 10
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B$ = Mid(A$, 10, 9)
CELL=2
B$ = B$ + C$ + Mid(A$, (CELL - 1) * 7+ 78, 7)

‘RID

B$ = Mid(A$, 16, 11)

SPOS=0

CELL =2 - SPOS

B$ = B$ + C$ + Mid(A$, (CELL - 1) *10 + 51, 10)

‘RID

SPOS=0
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Private Sub Command3_Click()
On Error GoTo ERRHALT3
FileName = "C:¥CONSTANT¥36.TXT"

Open FileName For Input As #1 ' OPEN
FileName = "C:¥K_SHO¥H7KS36SS.TXT" !

Open FileName For Input As #2 ' OPEN
FileName = "C:¥K_SHO¥H7KS36SSS.TXT" !

Open FileName For Output As #3 ‘ OPEN
RDSW1$ = "READ" ! 1 " ”
RDSW2$ = "READ" ! 2

RD3:

If RDSW1$ = "READ" Then
If EOF(1) Then GoTo EOJ31
Line Input #1, A$

KEY1$ = Mid(A$, 6, 5) + Mid(A$, 19, 4) ‘KEY1
RDSW1$ = "SKIP" ! 1
End If

If RDSW2$ = "READ" Then
If EOF(2) Then GoTo EOJ3
Line Input #2, B$
KEY2$ = Mid(B$, 16, 9) ‘KEY2
RDSW2$ = "SKIP" ‘ 2
End If
If KEY1$ = KEY2$ Then ‘KEY ( )
Mid(B$, 21, 6) = Mid(A$, 12, 6) ‘
RDSW1$ = "READ" ! 1
RDSW2$ = "READ" ! 2
GoTo W3
End If
If KEY1$ > KEY2$ Then ‘KEY ( )
RDSW1$ = "SKIP" ‘ 1 ”
RDSW2$ = "READ" ! 2
GoTo W3
End If
If KEY1$ < KEY2$ Then GoTo ERR3
W3:
Print #3, B$
GoTo RD3
ERRHALTS:
MsgBox "ERROR " + Error$(Err)
GoTo ERR3E
ERRS3:
MsgBox "ERROR KEY1="+ KEY1$
ERR3E:
Close #1, #2, #3
Exit Sub
EO0J31:
RDSW1$ = "SKIP" ‘ 1
KEY1$ = "999999999" ‘KEY1
GoTo RD3
EQJ3:
Close #1, #2, #3 ‘ CLOSE
End Sub
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